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Solving Linear Equations (15t degree)
Use inverse operations to isolate the variable.
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Solving Systems of Linear Equations
Use substitution or linear combination.
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C. Factoring Polynomials

Factor by using (1) GCF, (2) Grouping, or (3) the Trinomial method.
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Simplifying Radicals

Radicals are simplified (in simplest radical form/SRF) if
no perfect square factors are under the radical symbol.
no fractions are inside the radical symbol.

no radical expressions are in the denominator.
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E. Solving Quadratic Equations (2nd degree)
Solve by finding square roots, factoring, or the quadratic formula.
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Solving Nth Degree Equations
Set the equation equal to zero and factor the resulting polynomial.
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